1)  The critical points for fare x= /?7\\ \/5
Sr‘ =0 sze 5;:\ PNE
2)  The critical points for f’ are x= — % ,-! 12\5‘1')
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3) f hasalocal maximum when x=
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4) —~has its maximum value on L— 5, 6_'[ when x=
> 2 B D>
5) S decreasing on the interval(s)
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6) The graph of fis concave up on the interval(s) | B
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7)  The x-coordinates of the points of inflection are x =
L' b2 B, \w@TD DE. 0@ DS In g

8)  f’ has its maximum value when x = 22_
9)  f” has its maximum value when x = ‘
10) Does f’ have a minimum value on [-5.6 |? Explain.
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11) Does f” have a minimum value on [-5.6? Explain.
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1) f has alocal minimum at x =8

S F O

f has a local maximum at x = 4
HHTO S =D = T
3) f hasaPOI when x =

2

p—

4) f has a POI on the interval 6 < x <10
S CMbE e ) n & T0 DR

5) f 1S mcreasmg on |2, 10

SEE \?90
6) f(x) 17 has a solution in [2,10 | T
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S'(x)=2.25 has asolution in [6,8 ]

J'(x)=2.50 has a solution in [6,8 ] YT

f'(x)=2.75 has a solution in [6.8] T

The line y =15 1s a horizontal asymptote.

The line x = 7 1s a vertical asymptote.
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Homework/Classwork:

AP Packet #30 — 36, 41 — 45



